iven f(x)=x2 -1, =
Jx) 1, gx)=2x-3, and h(x) = 1 - 4x, find the following
1. (f+g)x)

=@ 2. (h-g)x)
(1-4)(2%-3)

- AAx-3 2 Sl s

—9x %3
3. & -hk
4. (g-N)
(2r-3y - (I- %) :
RK - 31K Clg-f\g (Xr\’“f;

{ 6;("-{ \ g raX'l‘\
Given f(x)=3x+3, g(x)=6x-5, and h(x) =x* + 14, find the following:

5. flg(-3) - ‘i( > 6. (ron ~F(E3) 7. gt = §(57)
’ [i33]
8. (1N . 1, (20) 0. g0 |

10. (h°&)(-4)
\ (3
;{q;q | J ’3‘!\

B s

Given f(x)=9-x, gx)=x*+3, and hx)=x-2, find the following:

Ilf\

1. (€°NE) 12. flgx) : 13. (AN
- g(§= (9033 - p(Red J053 (a0 (32
giromn (Cne tata
. =/ % 2 1§x+34
14. f(h(x)) 15. (h°@)®) 16. (2°2)®

) X \ - + * :
e (xD- qcf{fjﬂ b a - (D’ (@*ﬁ

17. A toy manufacturer has a new product to sell. The number of units to be sold, X, is a function of

the price p: n(p) =30- 25p “The revenue r earned is a function of the numbegl; of units sold x:
r(x) = 1000 - 12 Find the functuon for revenue r in terms of price, p. pleg € foralron M 3@’/

((N‘,\» 1000 - (30-asp) = 1600~ (‘700 |SOBp-+ 635 );{ 795+ 3055~ 154,35 \
18. Tyrone Davis has $180 deducted from every paycheck for retirement. He can have these deductions taken £
before taxes are applied, which reduces his taxable income. His federal income tax rate is 18%. If Tyrone

earns $2200 every pay period, find the difference in his net income if

a. he has the reti ement deduction taken before taxes Jex X
%2200 - Hvo = $2020, 5«3—’;0 Ngcz ¢ declocken. | £ et = J(5€H \
b. he has the retliement de uctlonm—a?tgg taxes
220 Hog ddodn 01 { TURY_nel
g thcmgnarm would you choose and why?
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